ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025028

	TRAC	S No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
999	MA 107	F074101C	999-A-(573)T	104503	MARICOPA	NORTHWEST	4		Jesmin Farhana

Highway Termini Location	Work Description
--------------------------	------------------

[•] QUARTZSITE-WICKENBURG- PHOENIX HWY(US 60)

Wickenburg Area

[•]IMPROVE ADA RAMPS, SIDEWALKS & DRIVEWAYS

Printed: 9/23/2025 Page 1 of 7

BID RESULTS FOR 2025028

Bid Opening Date: 8/1/2025, Prequalification Required, Engineer Specialist: Jesmin Farhana

Completion Date:

80 Working Days

The proposed project is located in Maricopa County on US 60 between MP 107.67 and MP 111.03, in the Wickenburg area. The work consists of improving ramps, sidewalks and driveways to comply with ADA requirements. The work includes curb, curb and gutter, driveway, sidewalk ramp, and sidewalk replacement, pavement marking, and other related work.

Bid Rank	Compared To Department Estimat Option#	Bid Amount	Contractor	Extended Sum of Items
	+%	\$561,945.00	DEPARTMENT ESTIMATE	\$561,945.00
1	+3.0%	\$579,062.20	D B A CONSTRUCTION INC. 1833 SOUTH 59TH AVENUE PHOENIX, AZ 85043-	\$579,062.20
2	+6.8%	\$600,093.80	STANDARD CONSTRUCTION COMPANY, INC. 810 E WESTERN AVE AVONDALE, AZ 85323-	\$600,093.80
3	+14.1%	\$641,080.70	AJP ELECTRIC, INC. 1920 W. CHERYL DRIVE PHOENIX, AZ 85021-	\$641,080.70
4	+77.2%	\$996,000.00	K.A.Z. CONSTRUCTION, INC. 1138 S SANTA RITA AVENUE TUCSON, AZ 85719-	\$996,000.00
5	+81.9%	\$1,022,414.00	FALCONE BROS & ASSOCIATE INC. 15885 N. EQUESTRIAN TRL TUCSON, AZ 85739-	\$1,022,414.00

Winning Bidder is 3.0% Over Department Estimate (Difference = \$17,117.20)

Printed: 9/23/2025 Page 2 of 7 *** Bid Tabs for Proposal Pamphlet 2025028 ***

Department Estimate	ltem Number	Unit of Measure Item D	escription	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
1	2020021	L.FT. REMO	OVAL OF CONCRETE CURB A	ND GUTTER				
2 STANDARD CONSTRUCTION COMPANY, INC. \$37,000 \$34,854.00 44.80% 3 AJP ELECTRIC, INC. \$18.000 \$16,956.00 -28.0% 4 K.A.Z. CONSTRUCTION, INC. \$20.000 \$18,840.00 -20.0% 5 F.ALCONE BROS & ASSOCIATE INC. \$30.00 \$32,970.00 +40.0% 2020025 SO.F.T. REMOVALOF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS BID Rank Department Estimate 4,616.000 \$9.500 \$43,852.00 1 D.B.A. CONSTRUCTION INC. \$13.000 \$80,000 \$37,851.20 -13.7% 2 STANDARD CONSTRUCTION, INC. \$10.000 \$46,160.00 +36.6% 3 A.JP ELECTRIC, INC. \$10.000 \$46,160.00 +5.3% 4 K.A.Z. CONSTRUCTION, INC. \$8.000 \$36,928.00 -15.8% 2020029 SQ.YD. REMOVALOF ASPHALTIC CONCRETE PAVEMENT BID RANK Department Estimate 252,000 \$120.000 \$30,240.00 -15.8% 2 STANDARD CONSTRUCTION INC. \$57,000 \$19,328.40 -36.1% -36.1% 1 <td< td=""><td>Bid Rank</td><td>Department Estimate</td><td></td><td>942.000</td><td>\$25.000</td><td>\$23,550.00</td><td></td><td></td></td<>	Bid Rank	Department Estimate		942.000	\$25.000	\$23,550.00		
A	1	D B A CONSTRUCTI	ON INC.		\$16.000	\$15,072.00	-36.0%	
4 K.A.Z. CONSTRUCTION, INC. \$20,000 \$18,840.00 -20.0% 5 FALCONE BROS & ASSOCIATE INC. \$35,000 \$32,970.00 +40.0% 2020025 SQ.FT. REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS Permitter Stellmake 4,616.000 \$9,500 \$43,852.00 1 D B A CONSTRUCTION INC. \$13,000 \$80,008.00 \$37,851.20 -13,7% 2 STANDARD CONSTRUCTION COMPANY, INC. \$10,000 \$46,160.00 +5.3% 3 AJP ELECTRIC, INC. \$10,000 \$46,160.00 +5.3% 4 K.A.Z. CONSTRUCTION, INC. \$10,000 \$46,160.00 +5.3% 5 FALCONE BROS & ASSOCIATE INC. \$8,000 \$36,928.00 -15.8% 2020029 SQ.YD. REMOVAL OF ASPHALTIC CONCRETE PAVEMENT BIR Rank Department Estimate 252.000 \$120.000 \$30,400.00 1 D B A CONSTRUCTION INC. \$56,700 \$19,328.40 -36.1% 2 STANDARD CONSTRUCTION COMPANY, INC. \$50,000 \$25,200.00 -16.7% 4 K.A.Z. CONSTRUCTION, INC. <	2	STANDARD CONSTI	RUCTION COMPANY, INC.		\$37.000	\$34,854.00	+48.0%	
S	3	AJP ELECTRIC, INC			\$18.000	\$16,956.00	-28.0%	
2020025 SQ.FT. REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS Bid Rank Department Estimate	4	K.A.Z. CONSTRUCT	ION, INC.		\$20.000	\$18,840.00	-20.0%	
Bid Rank	5	FALCONE BROS & A	ASSOCIATE INC.		\$35.000	\$32,970.00	+40.0%	
1	2020025	SQ.FT. REMO	OVAL OF CONCRETE SIDEWA	ALKS, DRIVEWAYS AND) SLABS			
2	Bid Rank	Department Estimate		4,616.000	\$9.500	\$43,852.00		
AJP ELECTRIC, INC.	1	D B A CONSTRUCTI	ON INC.		\$8.200	\$37,851.20	-13.7%	
4 K.A.Z. CONSTRUCTION, INC. \$10.000 \$46,160.00 +5.3% 5 FALCONE BROS & ASSOCIATE INC. \$8.000 \$36,928.00 +15.8% 2020029 SQ.YD. REMOVAL OF ASPHALTIC CONCRETE PAVEMENT S0.000 \$30,240.00 Bid Rank Department Estimate 252.000 \$120.000 \$30,240.00 1 D B A CONSTRUCTION INC. \$76.700 \$19,328.40 -36.1% 2 STANDARD CONSTRUCTION COMPANY, INC. \$50.000 \$12,600.00 -58.3% 3 AJP ELECTRIC, INC. \$100.000 \$25,200.00 -16.7% 4 K.A.Z. CONSTRUCTION, INC. \$100.000 \$25,200.00 -16.7% 4 K.A.Z. CONSTRUCTION INC. \$100.000 \$25,200.00 -16.7% 2020052 L.FT. REMOVE (DRIVEWAY CURB) \$112.00 \$3,600.00 \$3,600.00 1 D B A CONSTRUCTION INC. \$110.000 \$3,600.00 +166.7% 3 AJP ELECTRIC, INC. \$40.000 \$3,600.00 +166.7% 3 AJP ELECTRIC, INC. \$20.000 \$4,800.00	2	STANDARD CONSTI	RUCTION COMPANY, INC.		\$13.000	i i	+36.8%	
5 FALCONE BROS & ASSOCIATE INC. \$8.000 \$36,928.00 -15.8% 2020029 SQ, YD. REMOVAL OF ASPHALTIC CONCRETE PAVEMENT 8120.000 \$30,240.00 Bid Rank Department Estimate 252.000 \$120.000 \$30,240.00 1 D B A CONSTRUCTION INC. \$76.700 \$19,328.40 -36.1% 2 STANDARD CONSTRUCTION COMPANY, INC. \$50.000 \$12,600.00 -58.3% 3 AJP ELECTRIC, INC. \$100.000 \$25,200.00 -16.7% 4 K.A.Z. CONSTRUCTION, INC. \$100.000 \$25,200.00 -16.7% 5 FALCONE BROS & ASSOCIATE INC. \$100.000 \$25,200.00 -16.7% 2020052 L.F.T. REMOVE (DRIVEWAY CURB) \$15.000 \$3,600.00 -25.3% 2 STANDARD CONSTRUCTION INC. \$11.200 \$2,688.00 -25.3% 2 STANDARD CONSTRUCTION COMPANY, INC. \$15.000 \$3,600.00 +166.7% 3 AJP ELECTRIC, INC. \$20.000 \$4,800.00 +33.3% 4 K.A.Z. CONSTRUCTION, INC. \$6	3	AJP ELECTRIC, INC	· •		\$10.000	\$46,160.00	+5.3%	
2020029 SQ.YD. REMOVAL OF ASPHALTIC CONCRETE PAVEMENT	4	K.A.Z. CONSTRUCT	ION, INC.		\$10.000	\$46,160.00	+5.3%	
Bid Rank Department Estimate 252.000 \$120.000 \$30,240.00 1 D B A CONSTRUCTION INC. \$76,700 \$19,328.40 -36.1% 2 STANDARD CONSTRUCTION COMPANY, INC. \$50,000 \$12,600.00 -58.3% 3 AJP ELECTRIC, INC. \$100,000 \$25,200.00 -16.7% 4 K.A.Z. CONSTRUCTION, INC. \$100,000 \$25,200.00 -16.7% 5 FALCONE BROS & ASSOCIATE INC. \$100,000 \$25,200.00 -16.7% 2020052 L.FT. REMOVE (DRIVEWAY CURB) \$100,000 \$3,600.00 -16.7% 8Id Rank Department Estimate 240,000 \$15,000 \$3,600.00 -25.3% 2 STANDARD CONSTRUCTION INC. \$11,200 \$2,688.00 -25.3% 2 STANDARD CONSTRUCTION, INC. \$40,000 \$9,600.00 +166.7% 3 AJP ELECTRIC, INC. \$15,000 \$3,600.00 +33.3% 5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +30.0% 4 K.A.Z. CONSTRUCTION INC. \$5,900	5	FALCONE BROS & A	ASSOCIATE INC.		\$8.000	\$36,928.00	-15.8%	
1 D B A CONSTRUCTION INC. \$76,700 \$19,328.40 -36.1% 2 STANDARD CONSTRUCTION COMPANY, INC. \$50,000 \$12,600.00 -58.3% 3 AJP ELECTRIC, INC. \$100.000 \$25,200.00 -16.7% 4 K.A.Z. CONSTRUCTION, INC. \$100.000 \$25,200.00 -16.7% 5 FALCONE BROS & ASSOCIATE INC. \$100.000 \$25,200.00 -16.7% 2020052 L.FT. REMOVE (DRIVEWAY CURB) REMOVE (DRIVEWAY CURB) REMOVE (DRIVEWAY CURB) \$11.200 \$3,600.00 -16.7% 1 D B A CONSTRUCTION INC. \$11.200 \$2,688.00 -25.3% 2 STANDARD CONSTRUCTION COMPANY, INC. \$40.000 \$9,600.00 +166.7% 3 A.JP ELECTRIC, INC. \$15.000 \$3,600.00 +0.0% 4 K.A.Z. CONSTRUCTION, INC. \$20.000 \$4,800.00 +33.3% 5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +300.0% 4040125 TON FOG COAT \$5,900.000 \$1,800.00 +68.6% <td< td=""><td>2020029</td><td>SQ.YD. REMO</td><td>OVAL OF ASPHALTIC CONCR</td><td>ETE PAVEMENT</td><td></td><td></td><td></td><td></td></td<>	2020029	SQ.YD. REMO	OVAL OF ASPHALTIC CONCR	ETE PAVEMENT				
1 D B A CONSTRUCTION INC. \$76,700 \$19,328.40 -36,1% 2 STANDARD CONSTRUCTION COMPANY, INC. \$50,000 \$12,600.00 -58,3% 3 AJP ELECTRIC, INC. \$100,000 \$25,200.00 -16,7% 4 K.A.Z. CONSTRUCTION, INC. \$100,000 \$25,200.00 -16,7% 5 FALCONE BROS & ASSOCIATE INC. \$100,000 \$25,200.00 -16,7% 2020052 L.FT. REMOVE (DRIVEWAY CURB) REMOVE (DRIVEWAY CURB) REMOVE (DRIVEWAY CURB) \$3,600.00 -16,7% 1 D B A CONSTRUCTION INC. \$11,200 \$3,600.00 -25,3% 2 STANDARD CONSTRUCTION COMPANY, INC. \$15,000 \$9,600.00 +166,7% 3 AJP ELECTRIC, INC. \$15,000 \$3,600.00 +0.0% 4 K.A.Z. CONSTRUCTION, INC. \$20,000 \$4,800.00 +33,3% 5 FALCONE BROS & ASSOCIATE INC. \$60,000 \$14,400.00 +30,00% 4040125 TON FOG COAT \$5,900.000 \$11,800.00 +68,6% Bid Rank <t< td=""><td>Bid Rank</td><td>Department Estimate</td><td></td><td>252.000</td><td>\$120.000</td><td>\$30,240.00</td><td></td><td></td></t<>	Bid Rank	Department Estimate		252.000	\$120.000	\$30,240.00		
3 AJP ELECTRIC, INC. \$100.000 \$25,200.00 -16.7% 4 K.A.Z. CONSTRUCTION, INC. \$100.000 \$25,200.00 -16.7% 5 FALCONE BROS & ASSOCIATE INC. \$100.000 \$25,200.00 -16.7% 2020052 L.FT. REMOVE (DRIVEWAY CURB) Remover (DRIVEWAY CURB) Remover (DRIVEWAY CURB) \$15,000 \$3,600.00 -25.3% 1 D B A CONSTRUCTION INC. \$11,200 \$2,688.00 -25.3% -25.25.0% -25.20.00 \$3,600.00	1	•			\$76.700		-36.1%	
3 AJP ELECTRIC, INC. \$100.000 \$25,200.00 -16.7% 4 K.A.Z. CONSTRUCTION, INC. \$100.000 \$25,200.00 -16.7% 5 FALCONE BROS & ASSOCIATE INC. \$100.000 \$25,200.00 -16.7% 2020052 L.FT. REMOVE (DRIVEWAY CURB) Remover (DRIVEWAY CURB) Remover (DRIVEWAY CURB) \$15,000 \$3,600.00 -25.3% 1 D B A CONSTRUCTION INC. \$11,200 \$2,688.00 -25.3% -25.25.0% -25.20.00 \$3,600.00	2				\$50.000	. ,	-58.3%	
5 FALCONE BROS & ASSOCIATE INC. \$100.000 \$25,200.00 -16.7% 2020052 L.FT. REMOVE (DRIVEWAY CURB) 815.000 \$3,600.00 Bid Rank Department Estimate 240.000 \$15.000 \$3,600.00 1 D B A CONSTRUCTION INC. \$11.200 \$2,688.00 -25.3% 2 STANDARD CONSTRUCTION COMPANY, INC. \$40.000 \$9,600.00 +166.7% 3 AJP ELECTRIC, INC. \$15.000 \$3,600.00 +0.0% 4 K.A.Z. CONSTRUCTION, INC. \$20.000 \$4,800.00 +33.3% 5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +300.0% 4040125 TON FOG COAT \$5,900.000 \$7,000.00 Bid Rank Department Estimate 2.000 \$3,500.000 \$7,000.00 1 D B A CONSTRUCTION INC. \$5,900.000 \$11,800.00 +68.6% 2 STANDARD CONSTRUCTION, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6%		AJP ELECTRIC, INC			\$100.000	i i	-16.7%	
2020052	4	K.A.Z. CONSTRUCT	ION, INC.		\$100.000	\$25,200.00	-16.7%	
Bid Rank Department Estimate 240.000 \$15.000 \$3,600.00 1 D B A CONSTRUCTION INC. \$11.200 \$2,688.00 -25.3% 2 STANDARD CONSTRUCTION COMPANY, INC. \$40.000 \$9,600.00 +166.7% 3 AJP ELECTRIC, INC. \$15.000 \$3,600.00 +0.0% 4 K.A.Z. CONSTRUCTION, INC. \$20.000 \$4,800.00 +33.3% 5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +300.0% 4040125 TON FOG COAT \$60.000 \$7,000.00 *7,000.00 Bid Rank Department Estimate 2.000 \$3,500.000 \$7,000.00 *68.6% 2 STANDARD CONSTRUCTION INC. \$5,900.000 \$2,400.00 +68.6% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 *28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL	5	FALCONE BROS & A	ASSOCIATE INC.		\$100.000		-16.7%	
1 D B A CONSTRUCTION INC. \$11.200 \$2,688.00 -25.3% 2 STANDARD CONSTRUCTION COMPANY, INC. \$40.000 \$9,600.00 +166.7% 3 AJP ELECTRIC, INC. \$15.000 \$3,600.00 +0.0% 4 K.A.Z. CONSTRUCTION, INC. \$20.000 \$4,800.00 +33.3% 5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +300.0% 4040125 TON FOG COAT FOG COAT \$60.000 \$7,000.00 *37,000.00 1 D B A CONSTRUCTION INC. \$5,900.000 \$11,800.00 +68.6% 2 STANDARD CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL \$99.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC.	2020052	L.FT. REMO	OVE (DRIVEWAY CURB)					
2 STANDARD CONSTRUCTION COMPANY, INC. \$40.000 \$9,600.00 +166.7% 3 AJP ELECTRIC, INC. \$15.000 \$3,600.00 +0.0% 4 K.A.Z. CONSTRUCTION, INC. \$20.000 \$4,800.00 +33.3% 5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +300.0% 4040125 TON FOG COAT Bid Rank Department Estimate 2.000 \$3,500.000 \$7,000.00 1 D B A CONSTRUCTION INC. \$5,900.000 \$11,800.00 +68.6% 2 STANDARD CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL \$99.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	Bid Rank	Department Estimate		240.000	\$15.000	\$3,600.00		
3 AJP ELECTRIC, INC. \$15.000 \$3,600.00 +0.0% 4 K.A.Z. CONSTRUCTION, INC. \$20.000 \$4,800.00 +33.3% 5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +300.0% 4040125 TON FOG COAT FOG COAT \$5,900.000 \$7,000.00 Bid Rank Department Estimate 2.000 \$3,500.000 \$7,000.00 +68.6% 2 STANDARD CONSTRUCTION INC. \$5,900.000 \$11,800.00 +68.6% 3 AJP ELECTRIC, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL \$99.000 \$8.000 \$3,192.00 Bid Rank Department Estimate 399.000 \$4.800 \$1,915.20 -40.0%	1	D B A CONSTRUCTI	ON INC.		\$11.200	\$2,688.00	-25.3%	
4 K.A.Z. CONSTRUCTION, INC. \$20.000 \$4,800.00 +33.3% 5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +300.0% 4040125 TON FOG COAT Bid Rank Department Estimate 2.000 \$3,500.000 \$7,000.00 1 D B A CONSTRUCTION INC. \$5,900.000 \$11,800.00 +68.6% 2 STANDARD CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$44.800 \$1,915.20 -40.0%	2	STANDARD CONSTI	RUCTION COMPANY, INC.		\$40.000	\$9,600.00	+166.7%	
5 FALCONE BROS & ASSOCIATE INC. \$60.000 \$14,400.00 +300.0% 4040125 TON FOG COAT FOG COAT \$3,500.000 \$7,000.00 Bid Rank Department Estimate 2.000 \$3,500.000 \$7,000.00 1 D B A CONSTRUCTION INC. \$5,900.000 \$11,800.00 +68.6% 2 STANDARD CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL \$99.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	3	AJP ELECTRIC, INC	· •		\$15.000	\$3,600.00	+0.0%	
## 4040125 TON FOG COAT Bid Rank Department Estimate 2.000 \$3,500.000 \$7,000.00	4	K.A.Z. CONSTRUCT	ION, INC.		\$20.000	\$4,800.00	+33.3%	
Bid Rank Department Estimate 2.000 \$3,500.000 \$7,000.00 1 D B A CONSTRUCTION INC. \$5,900.000 \$11,800.00 +68.6% 2 STANDARD CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	5	FALCONE BROS & A	ASSOCIATE INC.		\$60.000	\$14,400.00	+300.0%	
1 D B A CONSTRUCTION INC. \$5,900.000 \$11,800.00 +68.6% 2 STANDARD CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	4040125	TON FOG	COAT					
2 STANDARD CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	Bid Rank	Department Estimate		2.000	\$3,500.000	\$7,000.00		
2 STANDARD CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -65.7% 3 AJP ELECTRIC, INC. \$2,500.000 \$5,000.00 -28.6% 4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	1				\$5.900.000	\$11.800.00	+68.6%	
4 K.A.Z. CONSTRUCTION, INC. \$4,500.000 \$9,000.00 +28.6% 5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	2				. ,			
5 FALCONE BROS & ASSOCIATE INC. \$5,500.000 \$11,000.00 +57.1% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	3	AJP ELECTRIC, INC			\$2,500.000	\$5,000.00	-28.6%	
4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	4	K.A.Z. CONSTRUCT	ION, INC.		\$4,500.000	\$9,000.00	+28.6%	
Bid Rank Department Estimate 399.000 \$8.000 \$3,192.00 1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	5	FALCONE BROS & A	ASSOCIATE INC.		\$5,500.000	\$11,000.00	+57.1%	
1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	4040165	SQ.YD. BLOT	TER MATERIAL					
1 D B A CONSTRUCTION INC. \$4.800 \$1,915.20 -40.0%	Bid Rank	Department Estimate		399.000	\$8.000	\$3,192.00		
· · · · · · · · · · · · · · · · · · ·		•					-40.0%	
	2	STANDARD CONST	RUCTION COMPANY, INC.		\$1.500	• ,	-81.3%	

Printed: 9/23/2025 Page 3 of 7 *** Bid Tabs for Proposal Pamphlet 2025028 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department	Estimate	399.000	\$8.000	\$3,192.00	
3	AJP ELECTRIC, INC.			\$4.000	\$1,596.00	-50.0%
4	K.A.Z. CON	STRUCTION, INC.		\$15.000	\$5,985.00	+87.5%
5	FALCONE I	BROS & ASSOCIATE INC.		\$45.000	\$17,955.00	+462.5%
4090006	TON	ASPHALTIC CONCRETE (MISCELLA	ANEOUS STRUCTURA	L) (SPECIAL MIX)		
Bid Rank	Department	Estimate	170.000	\$500.000	\$85,000.00	
1	D B A CON	STRUCTION INC.		\$470.000	\$79,900.00	-6.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$350.000	\$59,500.00	-30.0%
3	AJP ELECT	RIC, INC.		\$550.000	\$93,500.00	+10.0%
4		STRUCTION, INC.		\$600.000	\$102,000.00	+20.0%
5	FALCONE I	BROS & ASSOCIATE INC.		\$750.000	\$127,500.00	+50.0%
6080120	EACH	SIGN (RELOCATE)				
Bid Rank	Department	Estimate	5.000	\$650.000	\$3,250.00	
1	D B A CON	STRUCTION INC.		\$540.000	\$2,700.00	-16.9%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$900.000	\$4,500.00	+38.5%
3	AJP ELECT	RIC, INC.		\$400.000	\$2,000.00	-38.5%
4	K.A.Z. CON	STRUCTION, INC.		\$550.000	\$2,750.00	-15.4%
5	FALCONE I	BROS & ASSOCIATE INC.		\$1,250.000	\$6,250.00	+92.3%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VER	T.PANEL, TUBULAR M.	ARKER)		
Bid Rank	Department	Estimate	20,560.000	\$0.350	\$7,196.00	
1	D B A CON	STRUCTION INC.		\$0.750	\$15,420.00	+114.3%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$0.300	\$6,168.00	-14.3%
3	AJP ELECT	RIC, INC.		\$0.350	\$7,196.00	0.0%
4	K.A.Z. CON	STRUCTION, INC.		\$3.000	\$61,680.00	+757.1%
5	FALCONE I	BROS & ASSOCIATE INC.		\$3.000	\$61,680.00	+757.1%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank	Department	Estimate	218.000	\$2.500	\$545.00	
1	D B A CON	STRUCTION INC.		\$1.500	\$327.00	-40.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$0.750	\$163.50	-70.0%
3	AJP ELECT	RIC, INC.		\$0.750	\$163.50	-70.0%
4	K.A.Z. CON	STRUCTION, INC.		\$2.000	\$436.00	-20.0%
5	FALCONE I	BROS & ASSOCIATE INC.		\$20.000	\$4,360.00	+700.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING	ΓΥΡΕ)			
Bid Rank	Department	Estimate	2,738.000	\$2.000	\$5,476.00	
1	D B A CON	STRUCTION INC.		\$3.100	\$8,487.80	+55.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$1.000	\$2,738.00	-50.0%
3	AJP ELECT	RIC, INC.		\$2.200	\$6,023.60	+10.0%
4	K.A.Z. CON	STRUCTION, INC.		\$5.000	\$13,690.00	+150.0%

Printed: 9/23/2025 Page 4 of 7 *** Bid Tabs for Proposal Pamphlet 2025028 ***

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016033	EACH-DAY PORTABLE SIGN STAND (SPRI	NG TYPE)			
Bid Rank	Department Estimate	2,738.000	\$2.000	\$5,476.00	
5	FALCONE BROS & ASSOCIATE INC.		\$5.500	\$15,059.00	+175.0%
7016035	EACH-DAY WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate	2,596.000	\$0.350	\$908.60	
1	D B A CONSTRUCTION INC.		\$1.150	\$2,985.40	+228.6%
2	STANDARD CONSTRUCTION COMPANY, INC.		\$0.250	\$649.00	-28.6%
3	AJP ELECTRIC, INC.		\$0.350	\$908.60	0.0%
4	K.A.Z. CONSTRUCTION, INC.		\$2.000	\$5,192.00	+471.4%
5	FALCONE BROS & ASSOCIATE INC.		\$2.500	\$6,490.00	+614.3%
7016037	EACH-DAY WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate	20,560.000	\$0.350	\$7,196.00	
1	D B A CONSTRUCTION INC.		\$0.750	\$15,420.00	+114.3%
2	STANDARD CONSTRUCTION COMPANY, INC.		\$0.200	\$4,112.00	-42.9%
3	AJP ELECTRIC, INC.		\$0.350	\$7,196.00	0.0%
4	K.A.Z. CONSTRUCTION, INC.		\$2.000	\$41,120.00	+471.4%
5	FALCONE BROS & ASSOCIATE INC.		\$2.500	\$51,400.00	+614.3%
7016050	EACH-DAY TRUCK-MOUNTED ATTENUATO)R			
Bid Rank	Department Estimate	76.000	\$550.000	\$41,800.00	
1	D B A CONSTRUCTION INC.		\$77.000	\$5,852.00	-86.0%
2	STANDARD CONSTRUCTION COMPANY, INC.		\$1,000.000	\$76,000.00	+81.8%
3	AJP ELECTRIC, INC.		\$385.000	\$29,260.00	-30.0%
4	K.A.Z. CONSTRUCTION, INC.		\$50.000	\$3,800.00	-90.9%
5	FALCONE BROS & ASSOCIATE INC.		\$800.000	\$60,800.00	+45.5%
7016051	EACH-DAY TEMPORARY SIGN (LESS THA	N 10 S.F.)			
Bid Rank	Department Estimate	1,948.000	\$0.800	\$1,558.40	
1	D B A CONSTRUCTION INC.		\$1.150	\$2,240.20	+43.7%
2	STANDARD CONSTRUCTION COMPANY, INC.		\$0.750	\$1,461.00	-6.3%
3	AJP ELECTRIC, INC.		\$0.750	\$1,461.00	-6.3%
4	K.A.Z. CONSTRUCTION, INC.		\$2.000	\$3,896.00	+150.0%
5	FALCONE BROS & ASSOCIATE INC.		\$5.500	\$10,714.00	+587.5%
7016052	EACH-DAY TEMPORARY SIGN (10 S.F. OR	MORE)			
Bid Rank	Department Estimate	1,008.000	\$1.000	\$1,008.00	
1	D B A CONSTRUCTION INC.		\$1.500	\$1,512.00	+50.0%
2	STANDARD CONSTRUCTION COMPANY, INC.		\$0.850	\$856.80	-15.0%
3	AJP ELECTRIC, INC.		\$1.500	\$1,512.00	+50.0%
4	K.A.Z. CONSTRUCTION, INC.		\$2.000	\$2,016.00	+100.0%
5	FALCONE BROS & ASSOCIATE INC.		\$5.500	\$5,544.00	+450.0%

Printed: 9/23/2025 Page 5 of 7 *** Bid Tabs for Proposal Pamphlet 2025028 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department	Estimate	72.000	\$35.000	\$2,520.00	
1	D B A CONS	STRUCTION INC.		\$60.000	\$4,320.00	+71.4%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$20.000	\$1,440.00	-42.9%
3	AJP ELECT	RIC, INC.		\$36.000	\$2,592.00	+2.9%
4	K.A.Z. CON	STRUCTION, INC.		\$150.000	\$10,800.00	+328.6%
5	FALCONE B	ROS & ASSOCIATE INC.		\$130.000	\$9,360.00	+271.4%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CO	ONTRACTOR FURN	ISHED)		
Bid Rank	Department	Estimate	72.000	\$80.000	\$5,760.00	
1	D B A CONS	STRUCTION INC.		\$120.000	\$8,640.00	+50.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$40.000	\$2,880.00	-50.0%
3	AJP ELECT	RIC, INC.		\$70.000	\$5,040.00	-12.5%
4	K.A.Z. CON	STRUCTION, INC.		\$150.000	\$10,800.00	+87.5%
5	FALCONE B	ROS & ASSOCIATE INC.		\$155.000	\$11,160.00	+93.8%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department	Estimate	560.000	\$70.000	\$39,200.00	
1	D B A CONS	STRUCTION INC.		\$40.000	\$22,400.00	-42.9%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$65.000	\$36,400.00	-7.1%
3	AJP ELECT	RIC, INC.		\$82.000	\$45,920.00	+17.1%
4	K.A.Z. CON	STRUCTION, INC.		\$70.000	\$39,200.00	+0.0%
5	FALCONE B	ROS & ASSOCIATE INC.		\$155.000	\$86,800.00	+121.4%
7016079	HOUR	FLAGGING SERVICES (UNIFORMED	OFFICER)			
Bid Rank	Department	Estimate	40.000	\$110.000	\$4,400.00	
1	D B A CONS	STRUCTION INC.		\$132.000	\$5,280.00	+20.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$125.000	\$5,000.00	+13.6%
3	AJP ELECT	RIC, INC.		\$150.000	\$6,000.00	+36.4%
4	K.A.Z. CON	STRUCTION, INC.		\$80.000	\$3,200.00	-27.3%
5	FALCONE B	ROS & ASSOCIATE INC.		\$200.000	\$8,000.00	+81.8%
7040072	L.FT.	PAVEMENT MARKING (TRANSVERSE	(THERMOPLASTIC	C) (ALKYD) (0.090")		
Bid Rank	Department	Estimate	600.000	\$5.000	\$3,000.00	
1	D B A CONS	STRUCTION INC.		\$2.700	\$1,620.00	-46.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$2.000	\$1,200.00	-60.0%
3	AJP ELECT	RIC, INC.		\$2.000	\$1,200.00	-60.0%
4	K.A.Z. CON	STRUCTION, INC.		\$10.000	\$6,000.00	+100.0%
5	FALCONE B	ROS & ASSOCIATE INC.		\$10.000	\$6,000.00	+100.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department	Estimate	1.000	\$56,000.000	\$56,000.00	
1	D B A CONS	STRUCTION INC.		\$69,480.000	\$69,480.00	+24.1%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$80,000.000	\$80,000.00	+42.9%

Printed: 9/23/2025 Page 6 of 7 *** Bid Tabs for Proposal Pamphlet 2025028 ***

Item Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
9010001	L.SUM MOBILIZATION					
Bid Rank	Department Estimate	1.000	\$56,000.000	\$56,000.00		
3	AJP ELECTRIC, INC.		\$150,000.000	\$150,000.00	+167.9%	
4	K.A.Z. CONSTRUCTION, INC.		\$170,185.000	\$170,185.00	+203.9%	
5	FALCONE BROS & ASSOCIATE INC	i.	\$162,000.000	\$162,000.00	+189.3%	
9080085	L.FT. CONCRETE CURB AN	ND GUTTER (C-05.10 TYPE D or D-1)			
Bid Rank	Department Estimate	942.000	\$85.000	\$80,070.00		
1	D B A CONSTRUCTION INC.		\$80.000	\$75,360.00	-5.9%	
2	STANDARD CONSTRUCTION COM	PANY, INC.	\$60.000	\$56,520.00	-29.4%	
3	AJP ELECTRIC, INC.		\$60.000	\$56,520.00	-29.4%	
4	K.A.Z. CONSTRUCTION, INC.		\$100.000	\$94,200.00	+17.6%	
5	FALCONE BROS & ASSOCIATE INC	:.	\$60.000	\$56,520.00	-29.4%	
9080107	L.FT. CONCRETE SINGLE	CURB (MAG DET. 222)				
Bid Rank	Department Estimate	160.000	\$30.000	\$4,800.00		
1	D B A CONSTRUCTION INC.		\$85.000	\$13,600.00	+183.3%	
2	STANDARD CONSTRUCTION COM	PANY, INC.	\$60.000	\$9,600.00	+100.0%	
3	AJP ELECTRIC, INC.		\$50.000	\$8,000.00	+66.7%	
4	K.A.Z. CONSTRUCTION, INC.		\$90.000	\$14,400.00	+200.0%	
5	FALCONE BROS & ASSOCIATE INC	i.	\$50.000	\$8,000.00	+66.7%	
9080201	SQ.FT. CONCRETE SIDEWA	LK (C-05.20)				
Bid Rank	Department Estimate	1,000.000	\$20.000	\$20,000.00		
1	D B A CONSTRUCTION INC.		\$19.000	\$19,000.00	-5.0%	
2	STANDARD CONSTRUCTION COM	PANY, INC.	\$12.000	\$12,000.00	-40.0%	
3	AJP ELECTRIC, INC.		\$14.000	\$14,000.00	-30.0%	
4	K.A.Z. CONSTRUCTION, INC.		\$40.000	\$40,000.00	+100.0%	
5	FALCONE BROS & ASSOCIATE INC		\$22.000	\$22,000.00	+10.0%	
9080286	EACH CONCRETE SIDEWA	LK RAMP (DETECTABLE WARNING	STRIP)(C-05.30)			
Bid Rank	Department Estimate	1.000	\$5,000.000	\$5,000.00		
1	D B A CONSTRUCTION INC.		\$1,210.000	\$1,210.00	-75.8%	
2	STANDARD CONSTRUCTION COM	PANY, INC.	\$950.000	\$950.00	-81.0%	
3	AJP ELECTRIC, INC.		\$800.000	\$800.00	-84.0%	
4	K.A.Z. CONSTRUCTION, INC.		\$1,000.000	\$1,000.00	-80.0%	
5	FALCONE BROS & ASSOCIATE INC	:.	\$2,499.000	\$2,499.00	-50.0%	
9080296	EACH CONCRETE SIDEWA	LK RAMP (C-05.30 TYPE A)				
Bid Rank	Department Estimate	16.000	\$34.000	\$544.00		
1	D B A CONSTRUCTION INC.		\$4,120.000	\$65,920.00	+12017.6%	
2	STANDARD CONSTRUCTION COM	PANY, INC.	\$4,300.000	\$68,800.00	+12547.1%	
3	AJP ELECTRIC, INC.		\$4,000.000	\$64,000.00	+11664.7%	
4	K.A.Z. CONSTRUCTION, INC.		\$6,000.000	\$96,000.00	+17547.1%	

Printed: 9/23/2025 Page 7 of 7

*** Bid Tabs for Proposal Pamphlet 2025028 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080296	EACH	CONCRETE SIDEWALK RAMP (C-0	5.30 TYPE A)			
Bid Rank	Departmen	t Estimate	16.000	\$34.000	\$544.00	
5	FALCONE	BROS & ASSOCIATE INC.		\$5,000.000	\$80,000.00	+14605.9%
9080301	SQ.FT.	CONCRETE DRIVEWAY (C-05.20)				
Bid Rank	Departmen	t Estimate	3,273.000	\$23.000	\$75,279.00	
1	D B A CON	STRUCTION INC.		\$21.000	\$68,733.00	-8.7%
2	STANDARI	CONSTRUCTION COMPANY, INC.		\$15.000	\$49,095.00	-34.8%
3	AJP ELECT	TRIC, INC.		\$12.000	\$39,276.00	-47.8%
4	K.A.Z. CON	ISTRUCTION, INC.		\$50.000	\$163,650.00	+117.4%
5	FALCONE	BROS & ASSOCIATE INC.		\$25.000	\$81,825.00	+8.7%